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4 6 50 35° 3

T35-020S-50-3F 1582-11 1,600 2

T35-030S-50-3F 1583-11 1,600 3 4 9 50 35° 3
T35-0405-50-3F 1584-11 1,600 4 4 n 50 35° 3
T35-050S-50-3F 1585-11 2,220 5 6 13 50 35° 3
T35-060S-50-3F 1586-11 2,220 6 6 16 50 35° 3
T35-080S-60-3F 1587-11 3,650 8 8 20 60 35° 3
T35-100S-75-3F 1588-11 6,090 10 10 25 75 35° 3
T35-120S-75-3F 1589-11 8,240 12 12 30 75 35° 3
T35-1405-100-3F 1590-11 15,530 14 14 32 100 35° 3
T35-160S-100-3F 1591-11 16,540 16 16 36 100 35° 3
T35-180S-100-3F 1592-11 22,870 18 18 40 100 35° 3

T35-200S-100-3F 1593-11 24,930 20 20 45 100 35° 3



